

Bid 129-2021 Addendum 2 Lokits Contracting, LLC Lokits Contracting, LLC Supplier Response

Event Information

Number: Bid 129-2021 Addendum 2

Title: Hartland 3 Pump Station Replacement

Type: Competitive Bid Issue Date: 12/16/2021

Deadline: 1/19/2022 02:00 PM (ET)

Lokits Contracting, LLC Information

Address: 2480 Woodfield Circle

Lexington, KY 40515

Phone: (859) 699-2961

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

Cody Lokits	cody@lokitscontracting.com		
Signature	Email		
Submitted at 1/19/2022 12:43:45 PM			

Response Attachments

Lokits Contracting - LFUCG Hartland 3 PS BID FORM.pdf

Lokits Contracting - LFUCG Hartland 3 PS BID FORM

Bid Lines

1	Mobilization			_	
	Quantity: 1 UOM: LS	Price:	\$22,200.00	Total:	\$22,200.00
2	Demobilization				
	Quantity: 1 UOM: LS	Price:	\$11,100.00	Total:	\$11,100.00
3	Bonds and Insurance				
	Quantity: 1 UOM: LS	Price:	\$39,600.00	Total:	\$39,600.00
4	Erosion and Sediment Control and Conformance	with SWPPP			
	Quantity: 1 UOM: LS	Price:	\$28,650.00	Total:	\$28,650.00
5	Connection to Existing Sewer, 15-Inch Sewer				
	Quantity: 1 UOM: EA	Unit Price:	\$2,400.00	Total:	\$2,400.00
6	Concrete Structure Safeloading				
	Quantity: 1 UOM: LS	Price:	\$13,000.00	Total:	\$13,000.00
7	Manhole Abandonment				
	Quantity: 1 UOM: EA	Unit Price:	\$700.00	Total:	\$700.00
8	Pipe Abandonment—Safeloading 15-Inch Sewer				
	Quantity: 30 UOM: LF	Price:	\$185.00	Total:	\$5,550.00
9	General Site Improvement, Complete				
	Quantity: 1 UOM: LS	Price:	\$55,000.00	Total:	\$55,000.00

1	Bituminous Concrete: Private Parking Lots/Driveways	s, Area A				
0	Quantity: 80 UOM: Ton	Price:	\$250.00	Total:	\$20,000.00	
1	Bituminous Concrete—Private Parking Lots and Driveways, Area B					
1	Quantity: 250 UOM: Ton	Price:	\$220.00	Total:	\$55,000.00	
1	Manhole, 5-Foot Diameter					
2	Quantity: 1 UOM: LS	Price:	\$13,600.00	Total:	\$13,600.00	
1	Gravity Sewer Line16-Inch Ductile Iron Sewer					
3	Quantity: 30 UOM: LF	Price:	\$600.00	Total:	\$18,000.00	
1 4	Force Main Pipe, 10-Inch SDR 26 PVC					
	Quantity: 105 UOM: LF	Price:	\$220.00	Total:	\$23,100.00	
1	Reconnect Existing Gravity Sewer to New Manhole, 15-Inch					
5	Quantity: 1 UOM: EA Un	it Price:	\$2,500.00	Total:	\$2,500.00	
1	Comminutor Vault, Including Comminutor, Rails, Hato	h, Installed, (Complete			
6	Quantity: 1 UOM: LS	Price:	\$110,000.00	Total:	\$110,000.00	
17	New Pump Station, Complete					
7	Quantity: 1 UOM: LS	Price:	\$495,000.00	Total:	\$495,000.00	
1	Plug Valve, 16-Inch					
8	Quantity: 4 UOM: EA Un	it Price:	\$9,400.00	Total:	\$37,600.00	
1	Tie-In To Existing 10-Inch Force Main, Including Bypa	ss Pumping				
9	Quantity: 1 UOM: LS	Price:	\$1,000.00	Total:	\$1,000.00	
2 0	Bypass Pumping and Setup					
	Quantity: 1 UOM: LS	Price:	\$14,000.00	Total:	\$14,000.00	
2	Dense Graded Aggregate (DGA), Extra, as Directed by	y Engineer				
1	Quantity: 10 UOM: Ton	Price:	\$50.00	Total:	\$500.00	
2 2	No. 9 Crushed Stone, Extra as Directed by Engineer					
2	Quantity: 10 UOM: Ton	Price:	\$50.00	Total:	\$500.00	
2 3	No. 57 Crushed Stone, Extra as Directed by Enginee	r				
3	Quantity: 10 UOM: Ton	Price:	\$50.00	Total:	\$500.00	
2 4	No. 2 Crushed Stone, Extra as Directed by Engineer					
	Quantity: 10 UOM: Ton	Price:	\$50.00	Total:	\$500.00	
2 5	Allowance—Miscellaneous Site Improvement					
3	Quantity: 1 UOM: Lump Sum	Price:	\$100,000.00	Total:	\$100,000.00	

Allowance—Electrical Expense for New Station

Quantity: 1 UOM: Lump Sum Price: \$40,000.00 Total: \$40,000.00

Response Total: \$1,110,000.00